=dll Practice A
2- For use with pages 112-119

In Exercises 1-3, complete the proof.
1. GIVEN:mZA=mLB, mLB=mLC B
PROVE: LA =/LC

A c
Statements Reasons
I.meA=mlB, miB =mlC 1. Giwnen
2. mLA = mLC 2. Transttive P0 = (0r SubstAvtion PO :)
LA X2 LC 3. Defn. of = Ls
2. GIVEN: DE = EF, EF = DF E
PROVE: DF = DE
D F
Statements Reasons
1. DE = EF, EF = DF 1. Given
2. be =DF 2. Transitive PJ = ( or Substitution po:)
3.DF = D& 3. Symmetmc PO =
4. DF 2 DE 4. Defn. of = segmuntS
3. GIVEN: £ 1 and £2 are a linear pair.
PROVE: mZ1 = 180° — m£L2 2
Statements Reasons
[ L1 and L% ore o linear paiy L Given
2. Ll and LD ore svpplemantary 2. The angles in a lihedy paiv

ant stpw_mwi'ovry angltj

3. mél +mé2 =‘-l?0° 3. Defn. o€ SVPP'(WMNWy L's

4. mel = IR0 ~ mL% 4. Subtractizn PO =



LESSON

T Practice B

For use with pages 112-178

In Exercises 1-4, complete the proof.

1. GIVEN: HI=9,1J=09,1J =

PROVE: HI = JH

Statements

= JH

Reasons

LYHIT=4,1J=9 1T £ JH
2) HI=IJ

() Given

:z.') Transi+we PO =

(or SUL:I':'I'U'(»O»\ \4

N/

3‘) HI & 1T 3.) Definition of X SegmentS :
L{) HT f‘v__“ id L{) Trans H'we PO o
2. GIVEN: £3 and £2 are complementary.
mZ1 +ms2=90°
PROVE: £3= /1 3
Statements Reasons
) L3 and LU Qwe compltmcv\*'w\") L) EYVIR
mel +mLld = 40°

2.> m43 + mes 2= A0°

3->VHL| tmll=mL3 +tmL2

3-) Transitivm PO =

1.) Defn. of (omplﬁwner\favy L's
COr Subgtitution PO'-‘-)

L() il = m i3 ) Subtraction P‘O::
5) L1 & £3 5.) betn. :{ pzs
"g.éélfﬁéé‘; AL = SK ) Syt 4 £ s X
PROVE: AS = LK
Statements Reasons
) AL=SK l.) Giren
Z)AL*L‘S"AS 2.) SAP
LS +Sk = LK

3_) sg + LS = AS

) As = LK

3.) substitution PO =

H-) Substitutivn PO =

éTmns.

PO =

)



